EECEXE TR EX L 1N

(¢ ®1 O &)

NO JEFF (¢&F&0) X 5 R i B
1 i BT INFAEA DL - BAFE - 64 50m H H i
2 A BT thef 1 AEA - 24 - 34E 50m H FH iz
3 A BT AR - HE - AR 50m H H iz
4 T BT INFAREAE DT - 54F - 64F 50m Y K =
5 A BT theg 1 ARA - 24 - 34F 50m WK x
6 A BT AR FHE - BRUAE 50m W K x
7 TF BT INFAEALLT - 54 - 64 50m N % 7 T A
8 i Br thae 1 44 241 - 34 50m N % 7 T A
9 ZF BT DAE  HE - AR 50m N % 7 T A
10 A BT INEEAEAE LT - 54 - 64F 50m 7 K =
11 A B HRoE 1 AR A - 24 B4R 50m 1 Pk =
12 A BT AR - HHE - AR 50m ¥ b x
13 A B NS 4X50m A FL—1U 1L —
14 LS e R 4X50m A FLb—1VU 11—
15 LS — i 4X50m A FLb—1U b —
YWE B 4AX50mA RL—Y L—
B PR I
(& # o )
16 7T BT INFAE 200m @ AN A F b —
17 A BT A 200m 8 N A F L —
18 i BT — 200m @ N A F L —
Yo # % . 200mEAA KL —
19 i BT INFAE 200m H &5 A
20 LA BT A 200m H B} Vi
21 T BT — i 200m H i ¥
Yo & ¥ :200mBHFE
22 75T INFAE 100m H i ¥
23 i BT A 100m H H A
24 i BT — 100m H FH A
Y £ ¥ :100mHBE
25 BT INRE 100m N % 7 5 A
26 BT HheR AR 100m N % 7 5 A
27 A BT — % 100m X % 7 5 A
¥ K Z . 100mAF 7 T4
28 LA BT INFAE 100m 7% WK x
29 i BT e 100m % VK x
30 i BT — 100m 7% WK X
Yo & % . 100migk ¥
31 i BT IR 100m °F K &
32 BT Hhep e 100m K x
33 7B — & 100m K =
A3 Z : 100mPik X
34 L INEAE 4X50m 7 U — U L —
35 Lf-Br Ak 4X50m 7 VUV — J b —
36 i Br — % 4X50m 7 UV — U L —

Yo X E4AX5m7 Y-V L—
| B T |




